
Salou
Instruction manual GB 
Käyttöohje  FI 
Bruksanvisning  SE 



2

READ & SAVE BELOW INSTRUCTIONS BEFORE ASSEMBLY 
1. PLEASE SEPARATE AND IDENTIFY ALL PARTS,MAKING SURE THAT YOU HAVE ALL OF THE PARTS LISTED.

2. TO AVOID ANY SCRATCH DURING ASSEMBLY, PLEASE ASSEMBLE ON A SOFT MAT OR SIMILAR.

3. PLEASE ASSEMBLE STEP BY STEP AND FOLLOW THE INSTRUCTIONS.

4. WASHERS MUST BE USED.

5. WHILE EACH SCREW AND NUT IS PROPERLY FASTENED, DO NOT OVER FASTEN IT.

6. DO NOT COMPLETELY FASTEN EACH SCREW AND NUT UNTIL ALL THE SCREWS ARE PROPERLY FIXED.

Install all the relevant screws,but do not tighten them completely at the very beginning.   
Tighten the screws fully one by one.

Don't tighten up the screw before you start next mounting during the 
installation.

x1

740 mm

450 mm1000 mm

Hx8

Ax1 Bx1 Cx1 Dx1 Ex1 Fx1 Gx2

Ix4 Jx4 Kx4 Lx2 Mx4 Nx20 Ox2 Px8 Qx1 Rx1 Sx1
M6x48 mm M6X22 mm M6X15 mmM6X32 mm M8x55 mm Ø8 mm Ø6 mm M8 T30 T25 13 mmØ11 mm



3

LUE JA SÄILYTÄ NÄMÄ KÄYTTÖOHJEET ENNEN ASENNUSTA JA KOKOONPANOA
1. EROTTELE JA TARKASTA KAIKKI OSAT JA VARMISTA, ETTÄ KAIKKI OSALUETTELOSSA KUVATUT OSAT OVAT MUKANA TOIMITUKSESSA.

2. ASENNUKSEN AIKAISTEN NAARMUJEN VÄLTTÄMISEKSI SUORITA ASENNUS PEHMEÄN MATON TAI VASTAAVAN PÄÄLLÄ

3. SUORITA ASENNUS VAIHE VAIHEELTA OHJEITA NOUDATTAMALLA

4. ALUSLEVYJÄ ON KÄYTETTÄVÄ.

5. ÄLÄ YLIKIRISTÄ RUUVEJA JA MUTTEREITA NIIDEN KIINNITTÄMISEN AIKANA.

6. ÄLÄ KIRISTÄ LOPULLISESTI KAIKKIA RUUVEJA JA MUTTEREITA, ENNEN KUIN KAIKKI KIINNIKKEET OVAT PAIKALLAAN.

Asenna kaikki asiaan liittyvät ruuvit, mutta älä kiristä niitä täysin alussa.   
Kiristä ruuvit täysin yksi kerrallaan

Älä kiristä ruuvia, ennen kuin aloitat seuraavan asennusvaiheen.

LÄS OCH SPARA INSTRUKTIONERNA NEDAN INNAN MONTERING
1. SEPARERA OCH IDENTIFIERA ALLA DELAR FÖR ATT SE TILL ATT DU HAR ALLA LISTADE DELAR

2. MONTERA PÅ EN MJUK MATTA ELLER LIKNANDE FÖR ATT UNDVIKA ATT REPA DELAR UNDER MONTERING

3. MONTERA STEGVIS OCH FÖLJ INSTRUKTIONERNA

4. MUTTERBRICKOR MÅSTE ANVÄNDAS.

5. DRA INTE ÅT FÖR HÅRT UNDER TIDEN SOM VARJE SKRUV OCH MUTTER FÄSTS ORDENTLIGT.

6.   UVAR OCH MUTTRAR HELT TILLS ALLA KRUVAR ÄR ORDENTLIGT FÄSTA

Montera alla relevanta skruvar, men dra inte åt dem helt direkt i början.   
Dra åt skruvarna helt, en efter en

Dra inte åt skruvarna innan du börjar nästa montering under installationen.

Hx8

Ax1 Bx1 Cx1 Dx1 Ex1 Fx1 Gx2

Ix4 Jx4 Kx4 Lx2 Mx4 Nx20 Ox2 Px8 Qx1 Rx1 Sx1
M6x48 mm M6X22 mm M6X15 mmM6X32 mm M8x55 mm Ø8 mm Ø6 mm M8 T30 T25 13 mmØ11 mm

Hx8

Ax1 Bx1 Cx1 Dx1 Ex1 Fx1 Gx2

Ix4 Jx4 Kx4 Lx2 Mx4 Nx20 Ox2 Px8 Qx1 Rx1 Sx1
M6x48 mm M6X22 mm M6X15 mmM6X32 mm M8x55 mm Ø8 mm Ø6 mm M8 T30 T25 13 mmØ11 mm



4

N H

C

C

E

D

D

A

A

R

K

NJ
N

R

R



5

N

K

R

B

B

D

D

A

A

F

C

C

H
N

I
N

R

R



6

I
N

R

G

M
O

S

Q

D

B

A

G

G

L

M

40 kg

20 kg

P

7



7


